LOSUNG zu bsp-6947-2/RALO

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 6947

Aufgabe 1

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch6:12 52 &8 27 49 %W 51 32
b) ...durch 7: 50 69 N 44 64 40 76 39
¢)...durch4: 14 12 26 9 51 3 17 I8

Aufgabe 2

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch 8 : 26 M 97 33 43 98 56 83
b) ...durch 5:25 58 98 31 80 93 20 17
¢) ...durch 6 : 80 527 30 48 18 13 94 35
d) ...durch 3:52 27 57 33 13 A 75 66
e) ...durch 9: 80 32 65 52 33 M 7 51
f) ...durch 7:60 56 98 37 42 78 94 S8

Aufgabe 3

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch 9: 24 12 25 27 29
b) ...durch5:9 22 27 23 §
¢)...durch2:13 16 3 29 4
d) ...durch3:8 23 3 10 A
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LOSUNG zu bsp-6947-2/RALO

e) ..durch 7:26 29 22 13 18
f) ...durch4:4 28 23 16 13

Aufgabe 4

Streiche die Zahlen durch, die sich nicht ohne Rest teilen lassen durch. ...

a) ...durch 17 : 170 402 194 340 459 24T 495
b) ...durch 18 : 371 459 90 180 107 333 159
c) ...durch 15 : 3¥2 90 232 243 82 149 67
d) ...durch 14 : 63 152 448 382 18 434 308
e) ...durch 16 : 64 184 430 249 177 57 48
f) ...durch 13 : 140 183 390 485 285 403 1608

Viel Erfolg!
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